2 E AR P B LR IR - ()
VEFEPEAAME | (L3R MRE AHR (%)

(KB #5100 )

TR HBIRA R RE.H-1 Li-7 C-12 N-14 O-16 Na-23 S-32

— JESFRE ORAIL 10 /NS /NS 2 43, 38 20 73 B/ NELES A DA eI U — TR AT S H 2
SRED
LRI R R
A N —E R e AR A
B. TR (4 3 0] BE /N T IR AR S Y
C. Az b ity e i Rl s B IR b P IR S A i
D 7 i 30 A o IR e L e 0 14 S I AR
2. OB P A B S RE s T S ) B R R A

A BTER TR B. SRS S A [ R 4 B
C. BRE T ER AR 1Y SN D. ZUK SRR I S

.M PCGs, ) —P(s, BRE) AH=—21.7 kJ « mol ';P(s, A8
—17.6 kJ » mol ', HyILHEAT, Hr B AR e OB R TR
A. 2T B. i C. Bk D. TTiEHE

4, %Jﬁ:d’«%(@)%i?ﬂ@ﬁmwiﬁ*ﬂnV?Z%?K%\T%%\ﬂﬂ%ifﬂ
Eﬁ’ﬁl:@(g):@(g)+H2(g) AH;=+100.3 k] *mol™' @

@(g)+lz(g)— (g)+2HI(g) AH;=-+89.3 k] *mol™' @
W) AR R g AR A S R e R
A. H,+1, 2HI AH=-—11.0kJ * mol™’
B. H,(g)+1,(g)>=——=2HI(g) AH=—11.0 kJ * mol™*
C.H,()+1,(s)=—=2HI(g) AH=—11.0kJ * mol™'
D. H;(g)+1,(ge)=—=2HI(g) AH=-+11.0 k] * mol™'
5. TEAHRIELE FUESR N B2 R E Wi B (CH, OHD 7E 23 S P 38 0868, 3 AR VS S K AR S K

BRI R R QR R I Q. ,)FIIJT@JXUL% F1R) S T X1 ) e

AT B./NF 1 C.KkF1 D. JoikH
6. ML (LDTEREIR R T B 72, B 1 g Li 58 Bbert sliE 2 Li, O Bl #vE o 42,9 k],
D) Li ke i 3 tb 2 R =R i) 2

A ZLH—%()z:LiZ() AH=—85.8 kJ » mol

B, 2Li<s>+%oz<g>—uzo<s> AH=-+85.8 k] + mol
C. 2Li(9) +4-0, () —1i,O(x)  AH=—600.6 kJ + mol

D. Li(s)+%02<g)=%1420(s> AH=—300.3 kJ » mol !

7. BAMESER R 2A, (@) +B, ()=—=A,B,(g) AH (R fiR. Tl !
YT %R A B AN T £ S ) s
A, FMEAL R T LS AH
B.AH=—( —a) kJ » mol™!

C. ST B R R T2 0 1 5 Rl ek
D, W iRl 2 /N T R R B A

LT E - 2 (—) % 1 a4 30D g

&



8. ATAFA  WFFEN G I &5 B S B A R IR SE R BHRE A A2 AL A7 fid . AR I R I

0, so;mo’imn SO,

KBfE— 3Gk — LSO M | [SOMefbbifk] [ sikbe |— ik — ik

}iﬂjl\ H:SOJ/\ S /@%Zﬂl

B T ;HZS()4(l):SO2(g)+H2O(g)+%()2(g) AH, = +275.5 kJ + mol s

S 23S0, (g) +2H, O(g)=—=2H,SO, (D+S(s) AH,=a k] * mol ';
JVE :S(s) +0, (g)==80,(g) AH;=—297 k] * mol ',

AN TP AR A R
A, BV T Ffk24aEsE B. & T Ak 2 fig sk b
C.a=+254 D. 0 1T R

9, — BT, B 22 E A 2 mol NuHl 6 mol H,, B4 W N, (g) +3H, (9)==2NH, (g) , fz 2
MASHLH o k] fFRE (fsoE i FR rh A BB 0 20 » MIZ 554 T R WiN, (@) +3H, (@)=2NH; ()
B AH
A. /MT a k] » mol™! B. XT a kJ » mol™!

C. j(ﬂ:—%a kJ » mol ! D. /J\?—%a kJ + mol™!

10. FIRE BT, kb — i i CEERUH B Q kI 400mL 5 mol « L' KOH % W Wi 2B B%
1 CO, B U 58 255 28 AE &L W 5843858 1 mol C, Hs OH Il Hh i iy
A QKJ B.2Q kJ C.3QkJ D. 4Q k]

T GEREB CREHL 5 /N BN A Gy 38 20 4y BE/NEA — AN e AR TIAT AU, TR XA 4 4
YEXHEA 2R 2 43 A RS H9FS 0 40

1L EH:&F 8.0 g NaOH BFiEW 5 1 L 0. 3 mol « L "ERFR KN, it 11. 46 kJ By#E ; HN; (aq) 5
NaOH (aq) g W 4E % 1 mol NaN; (aq) i AH=—35.4 k] » mol ', W %353 1E A 19 2
AL SRR SRIRAER AR R AE R 1 mol H, O B W AH=—11. 46 k] * mol ™'
B. FR B AERR A R R AR R 1 mol Ho O B i 57. 3 kJ A
C. % 8.0 g NaOH s -5 0. 2 mol H, SO, MUBRERE W b —E B 11. 46 k] fy
D. HN; 7K P 8 AH=+21.9 kJ * mol ™

12, —EE&MT AEAB R PR R A 1 mol i CI .ClO, (#=1,2,3,4) B 5 100

M RE & (kD AXT RN s . B AA SRR A R 12 100

A. e J2 CIO, 28 | d(+5.64)
B.a.b.c.d.e ' c mAFEE 10 b(+1.60)
C. b—>a+c R A N AT
D. b>a+d N L2 FE R 3C10 (a)=—=ClO; (aq) +2Cl (aq) %% o = 5 =

AH=-4116 k] » mol ™! SOCE LA M
13. S, Cl, 1 SCl, ¥4 0y 2 AL TR AR /2 8 i TR E 454 .
25 DOS, (D+Cl(g9)==S,Cl,(g) AH,=x kJ * mol ';
@8S,Cl, (g) +Cl, (g)==2SCl,(g) AH,=y kJ * mol™};
OWr%E 1 mol AHIAL = HE I 75 B RE SR AR 7R .

TAN LA TR )

A. SClL, gtk Cl—S—Cl == S—S | S—Cl | C—ClI
B. S,CL Pt  Cl: S Sl AE &L /K] a b ¢
C.y=2b—a—c

D. S, (D+2CL ()==2SCl.(g) AH=(z+3)k] » mol
L4 Ny PR RE » HA5 A0 TE DU A AN 79D - 5 A s 7R, ©RIBEE 1 mol SRl 4 i s
AER AN TR, TFOIBLEIER 2

A2 N—N N=N H—N H—H
e /k] 193 941 391 436

AN N, AT e A0 S AR S i

B. N, (2)=—2N,(g) AH=+217 k] + mol ™"

C. 1 mol N, (g) Wi bz ity Zll 772 k) fight

D. N, (g)+6H,(g)——=6NH;(g) AH=—3264 kJ * mol "'
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15.

ORI AP s T R

2H, (g)+0,(g)=—2H,0() AH=-—571.6 k] * mol ™ !;

CsHs (g) +50,(g)=—=3C0O, (g) +4H,0(1) AH=-—2220 kJ » mol™',

AR IE A )

A. H, By 571, 6 kJ » mol !

B. G Hg 58 @BAFA= 1 1 mol H, O il Hh By #ia A 555 k]

C. 1 mol H, #l 2 mol C; Hy 4 W UTR &AM SE S BRBE I A #viE Ay 5011, 6 k]

D. 5 mol H, 1 C; Hs IR A AR 45 58 S RBEI i 3847 k] #4vi: M| V(H,) = V(G Hg)=3 = 1
RFSE =

&
Jjo

2 3 4 S 6 7 8 9 10 11 12 13 14 15

-~
=

E\HEJ‘?_EF ﬁ(ZISL/\ 5 /J\iElI:E‘9;:E: 60 é})

16.

17.

18.

(12 7)) e/ MABT T Un P S gde B IR T e S IR L 1L .
_ ERK

RN

e BE(E K 5R40T)

2] z ]

[F] 2257 5] i)

(DA [R]2A 1 25 B H G a ARSI ACBE FIHG B IR » RE IR S N S S N (1 B G S
AR DL AR 5. 6 L Ho it Q kI iz b (#2422

(2)B [A] "7 1) 3% B Y afx%gtpﬂﬂ/\l_iﬁﬁ@ﬂ%ﬁ.ﬁi*ﬂﬂ( PIRNE S ks LIDUR =S L OEE P

WA o T K I (I fLaniziis w00
) A, 2
(3% 2 ANE VW] B FORG B S I A R S BT R P 3 |
o 2
(O C I FIFIE B P E U 1 G 5 K R B R B i % 2 [ \maro
. PRI O, BRI R A, 3 0982pmm

mE AR, N R R . R R
(10 43) B
FE T :2CO(g) +0,(g)=—=2C0O,(g) AH=—566 k] + mol ';

JZ 7 11 s Nay O, () +CO, (g)——Na, CO, (s)-’-%(b (9) AH=—226 k] » mol !,
] 2T %) ]

(DRl SO 1AW i g COL CO, BAT e Ay s fIR? R AE™ .
(2)CO Bk Bet AH= kJ + mol ',

(3) T H45 R v 2 SR 11 i A8 f o UHFH)

"l‘-JJSZ EV/J

Yy . i I
L R R R et
A B C

WA T +2Na, O, (s) +2C0O, (s)=—=2Na,CO, (s)+0,(g) AH E > <5 “=")
—452 kJ * mol !,

(5)CO(g) 5 Na, O, () R A, Na, CO, () 5 MW ELH 509 k) $Enf, BB T8RN

(13 50 BTG PESE: 23 /N g 1 1 S 7 1 20 mlL 1.5 mol = L NaOFL ¥ o 22 18
BEHe B2 H, SO B W - BEHE R 505 I 10 SR Wil L » S 36 R4 A AL ?EEE)% {B‘ R 1Y A 5 2 AN
PR B/ o AR S B didin s il g i R a2 (B AR A 2 4.2 k) « kg '+ T D),

CHEITRIREE - W (—) 5 3 A4 50 BEFEMnE 1 RO AZRY | FiEM I A



19.

20.

30
28 M
£ 26 T
oy pd \
,DE // \
W% 22 /
20
0 10 20 30 40 50
5% ¥H,S0,(aq)]/mL
4
1] 24 °F %) ) it
(DALER b A FR A SHAES a TR AR Hl 5 FEas AR W SE g0 2 GHE“ =
ORI B ORNART P R AR 5 S BR A E AR R .
(2) HH I & TN SE B0 A B i ,c(H,S0,) = mol « L',
O 2 s SE B R 3 1 230 I A 1Y R s v #4 AH = s R R 10
FRB IR » M 5% G2 LB sh” M LB s A7),
(13 40 AL AR FR AR L SR IR A 28 rhohin A — il e 049, 22 111 R ) B S0 B B AR 005K

o9 He A O, GnEE A2 PP SRR . [BI%5 T 51 fa) it
(DSERN .1 g He BABEAE ORI 142, 9 k] A T RER R A
R B 227 R 2

o /1‘
(DA TS SRR TR Hfezt, FIRD Al B -
SEHEFT £ 52 07 2 HF5).

(3) O E A F R sl K R R TR AT LA RS
FAeEE . C, Hs()H(lH—%()z(g)ZZC()z(g)+3H2(g) AH=—554.0 kJ * mol !

KFERFEE.C,H,OH(D +3H,0(g)—2C0, (g) +6H,(g) AH=-+174.2 k] * mol !
DKM C,H;OH (D) + 30, (g)=——2C0O, (g) +3H,0(g) i AH (e >r«“<”mg
“=7)—554,0 kJ » mol ',
QL FrA = R E AL KRG FAE AR PO BNE LS KRS HEN S S INE
LN LY R EZ .
(DA MAMN H, o Rk Rk 615 . A etk O ) RE AR AL i E s » il CH, (20 5 H,O(g)
B AR R CO() 1 Hy (@) b2 77 FE R .

it C()(g)+;—()g(g) it Hz(g)+;—()z(g) fit

L= = A == A L= A B S R~

I I
AH=-282 kJ-mol™ AH=-241.8 kJ-mol” AH=-802 kJ-mol”

CO,(g)

Y S 3o P 0 I 3o 0 SN 3
(12 ) A RE S TABE A B AL 2 AL AT ST AR . IR T 91 ) Rt
(1 p P v Tk 20 ik R AEDX B 1 A8 A L BT 7S
OF HIZIRET MgF, (s) 43t i) #8245 = - |
o T 600 ] sy Fale)
@ A AR € P - MgDBr, JH“>7E“ <) 3 400
MgCl; , = 7Mg(s)+7Cll(lg) 1
@R Mgl () +Br, (9)—MgBr, () +1L,(g)  AH % o e
— kJ . molfl ?Mg(s)"'jlz(g)
(2) E R IE—Fh 55 1R . TN 25 “CH 0 RS
HF(aq) == H" (aq) +F (aq) AH=-—10.4 kJ *« mol !;
H" (aq) +OH (aq)=—H,O(]) AH=-—57.3 k] * mol ',
WZm# HE B0 -5% NaOH B b 20 R
R H R SRR TELR T 57. 3 K » mol ' 1YL AT AT B .

(O H, 5 FAe BRI iR G h o KRR ZURON Oy i A 2507 B 3008 He () +F, (@)=—=2HF (g)
AH=-—546.6 kJ + mol ", #¥ & CHk . W3¢ 1 mol P b= f i fEm B n h

=i H—H F—H
E/k] 436 565
0 F,(g)>=—=2F(g) AH= kJ » mol™ !,
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